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RI R T 2 5t & &£ EIFM%%%

i T TORER awmum R i =
292.90 0.4 NO.14+12.90
302.61 0.4 0.40 9.71 3.9 EC1BC2
312.73 0.4 0.40 10.12 4.0 NO.15+12.73
325.73 0.2 0.30 13.00 3.9 NO.16+5.73
338.02 0.1 0.15 12.29 1.8 SP.2
351.00 0.1 0.10 12.98 1.3 NO.17+11.00
360.00 0.1 0.10 9.00 0.9 NO.18
373.42 0.1 0.10 13.42 1.3 EC.2
380.00 0.1 0.10 6.58 0.7 NO.19
389.80 0.0 0.05 9.80 0.5 NO.19+9.80
400.00 0.0 0.00 10.20 0.0 NO.20
415.85 0.0 0.00 15.85 0.0 NO.20+15.85

/N B 122.95 18.3




L1 EEEE T = i E & %M%%%

i i LIRS ammm L i =
292.90 1.4 NO.14+12.90
302.61 1.4 1.40 9.71 13.6 EC1BC2
312.73 1.4 1.40 10.12 14.2 NO.15+12.73
325.73 1.2 1.30 13.00 16.9 NO.16+5.73
338.02 1.0 1.10 12.29 13.5 SP.2
351.00 1.0 1.00 12.98 13.0 NO.17+11.00
360.00 1.0 1.00 9.00 9.0 NO.18
373.42 0.4 0.70 13.42 9.4 EC.2
380.00 0.1 0.25 6.58 1.6 NO.19
389.80 0.2 0.15 9.80 1.5 NO.19+9.80
400.00 0.4 0.30 10.20 3.1 NO.20
415.85 0.3 0.35 15.85 5.5 NO.20+15.85

/N B 122.95 101.3




#BAEI iR
& b W% g BEir| #% 2
1EEXT
TIHEELY m3
FRYE = 0.00 0.0
TIHEELY m3
RIE (FEEI) = 3.90 3.9
TIHEELY m3
1R L = 3.90 3.9
3
R+ 39 — 3.9/0.9 =04 m 0.4
TIHEELY 9
HEEE = 19. 60 m 19.6
BaEI
Bf#E. MmmR HETER &Y -
SEEERT (1) [senz3s759r[12007 + 17.2  + 100.0 = 237.90 237.9
XYY T (F4m x 8T + KIRE5mI 1R
BfE. MmmR HETER &Y -
SEEERT (2) |2ontIT5vk 7.8 + 10. 6 = 18.40 18.4
HETEEE Y
EERIOvs [BiE 200 + 80 + 400 — 68.00 m 68.0




D1 :ER¥E

D2 :BRIEUEAD TEHEFESE GET

i s T WA ow i D) D2 | =
292.90 0.0 0.1 NO.14+12.90
302.61 0.0 0.1 0.00 0.10 9.71 0.0 1.0|EC1BC2
312.73 0.0 0.1 0.00 0.10 10.12 0.0 1.0{NO.15+12.73
325.73 0.0 0.1 0.00 0.10 13.00 0.0 1.3[NO.16+5.73
338.02 0.0 0.0 0.00 0.05 12.29 0.0 0.6|SP.2
351.00 0.0 0.0 0.00 0.00 12.98 0.0 0.0|NO.17+11.00
360.00 0.0 0.0 0.00 0.00 9.00 0.0 0.0|NO.18
373.42 0.0 0.0 0.00 0.00 13.42 0.0 0.0]EC.2
380.00 0.0 0.0 0.00 0.00 6.58 0.0 0.0|NO.19
389.80 0.0 0.0 0.00 0.00 9.80 0.0 0.0]NO.19+9.80
400.00 0.0 0.0 0.00 0.00 10.20 0.0 0.0INO.20
415.85 0.0 0.0 0.00 0.00 15.85 0.0 0.0]NO.20+15.85

s B 122.95 0.0 3.9




R R T = i B & -

i T T OR W R awmum R i =
292.90 0.1 NO.14+12.90
302.61 0.1 0.10 9.71 1.0 EC1BC2
312.73 0.1 0.10 10.12 1.0 NO.15+12.73
325.73 0.1 0.10 13.00 1.3 NO.16+5.73
338.02 0.0 0.05 12.29 0.6 SP.2
351.00 0.0 0.00 12.98 0.0 NO.17+11.00
360.00 0.0 0.00 9.00 0.0 NO.18
373.42 0.0 0.00 13.42 0.0 EC.2
380.00 0.0 0.00 6.58 0.0 NO.19
389.80 0.0 0.00 9.80 0.0 NO.19+9.80
400.00 0.0 0.00 10.20 0.0 NO.20
415.85 0.0 0.00 15.85 0.0 NO.20+15.85

7N 2 122.95 3.9




L1 EEEE T+ =2 5t HE & P

i i LIRS ammm L i =
292.90 0.5 NO.14+12.90
302.61 0.5 0.50 9.71 4.9 EC1BC2
312.73 0.5 0.50 10.12 5.1 NO.15+12.73
325.73 0.5 0.50 13.00 6.5 NO.16+5.73
338.02 0.0 0.25 12.29 3.1 SP.2
351.00 0.0 0.00 12.98 0.0 NO.17+11.00
360.00 0.0 0.00 9.00 0.0 NO.18
373.42 0.0 0.00 13.42 0.0 EC.2
380.00 0.0 0.00 6.58 0.0 NO.19
389.80 0.0 0.00 9.80 0.0 NO.19+9.80
400.00 0.0 0.00 10.20 0.0 NO.20
415.85 0.0 0.00 15.85 0.0 NO.20+15.85

/N B 122.95 19.6




PhEgm T SKEtx

& b pS g = B # =
Bl T
HETERELY i,
8L 3% [ LE A H=1. 1m 55,5  + 226 + 524 = 130. 50 130.5
HIFHRA LT
HHEREMIGE | RedETER &Y *
HIEHRR b H=0. 85m 6.0 + 4.0 = 10. 00 10.0
gAr REFETHEHL Y *
HIEHRR b H=0. 85m = 3.00 3.0




XEHRI £EitxX

£ b W% g = B #% 2
REHT

RAa2 K TEMEFEEA KLY

iR (BEE)  |W=150m 1249 + 553 = 180.20 m 180. 2
RAa2 K TEXMEFEEA KLY

ETHRE FHHE) |W=150m =300 | 30.0
RA2 K TEXMEFEEA KLY

sElS FHEE)  [W=150m 1400  + 128.3 = 268.30 m 268. 3
R4 K tEEXY

S5 (HEBE) W=15cm 180.2  + 30.0 + 268.3 = 478.50 m 479
RAUFR

S5 (EEE) W=15cm = 952.00 m 952
B REFETERL Y

BEEFEE (B (W=15omi e 89 x 2.0 = 17.80 m 17.8
B REFETERLY

AR M) |W=15omipe 6.7 x 2.0 = 13.40 m 13.4
i REFETERL Y

EEAXT G |[W=15cmie =17.70 m 17.7
i E@m&Y

S5 (HEBE) W=15cmi®&  [17.8  + 13.4 + 177 = 4890 m 49
AR "

55t (HFE) W=15cmif & = 07.00 97
B REFETERLY

Eibsg B |[W=45cm 285 x 2 + 250 = 8.20 m 8.2
BEL €JS| ZeNETEELY

€75 (Mg |W=45cm 820 / 2 / 0.45 = 91. 11 m 01. 1
A €735 L££&Y

S5 (HEBE) W=45cm 82 + 911 = 99. 31 m 99
BRR £J5

S5 (EEE) W=45cm = 198.00 m 108

BREH T —HE REFETERLY i

250 x  19.2 = 48.00 48.0




BRRfTEESR T SiR

£ {1 pS g B # =
E T (DFFEiEH)
BT 025 | * 0.25
st - g
I T7—RE E-B5 ¢ 10 x 1500mm 1.00 1
E-B10 @
W T —REAY— RiEF| @10/ 80 x 500 1.00 1
600VE = LIERER (V) | & U 5. 5mm2 3.00 m 3
B B AT B R
EETEER & Y 3
FRAE Y 3.10 m 3
EETEER & Y 3
BEL 280 m 3
FBETEER & Y )
HEERA 0. 49 m 0.5
FBETEER & Y 3
avhy—p 18-8-408B (/=604 1) 0.48 ™ 0.5
HINE X EE ROOEERELY
2845 LES ~ |O=R6e00 B0, 6o 1.70 m 2
4-M24x 700 [REAHEAEREY "
FoA—TL—LA 1.00 " 1
FRBAAE
W:350kgLl T [REINHBERE Y =
BB RETEE 1.00 - 1
EHEHE SARBRE
FBETEER & Y .
EEREEEE BER 1.00 = 1
B L OBSRE/104 /585 (1B) 0.18 H 0.18
FEETEER & Y .
BRI SEARBRE 1.00 1
KCE090-2C  [REBANHARE Y R
LED& pRFBEH 28 B 1.00 = 1
FMT15-A FBETEER & Y &
a4 by MFRRA YT 1.00 1
200V 6A FBETEER & Y &
BE SRS CEER2M) =1.00 1
VW-F 2. Omm IREAATHEER & U
B TER) 20 600V = 18.00 m 18
VW-F 2. Omm IREAATHEER & U
B (ABAREM [30 600V 3.00 m 3
104k % ER., A%, TE. AR, 28, ZELS CLEE. F8Er O *
B EEME 1K 1.00 1
10T EHEE (|REIEEREY *
HBREBHEA—IL — MRE HoxmmE 1.00 1




BEYHET SitX

£ o R O® = = BHil #% £
FHEEME T
BEFER KLY
L7 — F WL b 240 + 6.00 — 8.40 m 8. 4
T ETL
BEFER KLY H®
B R BRI (IBEED) 1.00 = 1.00 1.0
BEMRIELT
ANAD BEFER KLY 3
avo - MEEREREL | EGHEEY 005 + 010 + 0.10 — 0.25 m 0.3
BEFER KLY 3
LEVERER B8/\ 1) 0.026 x 1.80 =005 m 0.1
BEFER KLY 3
F—FRELD |ER —0.10 m 0.1
BEFER KLY
. m3
=5 R —0.10 0.1
by BEFER KLY 3
avH - MERE L | SIS Y 0.10 + 0.24 —0.34 m 0.3
BEFER KLY 3
AE kD 0.04 x 100 =0.04 m 0.1
BEFER KLY 3
£ 7k 1400 0.12 x 200 =0.24 m 0.2
by BEFER KLY 3
avy - MEEMEREL [SEHEE Y | 0.48+0.85+1. 25+1.94+0. 40+8.64 = 13.65 m 13.7
BEFER KLY 3
RUF 1) 2—14200 0.02 x 2400 =048 m 0.5
BEFER KLY 3
RUF 1) 12— 1250 0.02 x 42,40 =0.85 m 0.9
BEFER KLY 3
Ea—L& b 400 0.15 x 830 =125 m 1.3
BEFER KLY 3
452300 300 0.09 x 21.50 =1.94 m 1.9
BEFER KLY 3
SEEBERIOY Y 0.06 x 6.60  =0.40 m 0.4
BEFER KLY 3
FL% vz R [H1250 0.18 x 48.00 = 8.64 m 8.6
FTARI77ILEER | BEFERK Y
558 R IR 15emEL T 100 + 6.3 — 16.30 m 16.3
FTARI77ILEER | BEFERK Y 9
SHE BB 10cmEL T — 579.66 | 579. 7
EHRALEE T
L=8. 6km 3
n i 228 - b () 0.25 + 034 =059 m 0.6
L=8. 6km 3
2n o 4 228 = b G — 13.65 m 13.7




BEYHRET £iHX
% R BO% =1 X Hifs £
L=8. 6km 3
EE FZAIT7Ik 579.7 x  0.05 28. 98 m 29.0
B 797 .
A5 a2 — bk (EH) 0.6 X 2.35 1.39 1.4
B 797 .
oty avH 1 — kG 13.7 x 2.50 34.13 34.1
B 797 .
oty FTAI7I bk 29.0 X 2.35 68. 11 68. 1
L=4. 6km .
IG5 R & foEK IBEE $150 1.00 1.0
W0 ER WEFERLY )
w05y IBEE 150 24.0  x 3.941 94.58 & 94.6




